LK

CH. Klectri

Flat car
w/ truck trailer

inlli n A HE

e e e —m e

’b_mm@méi' VIEE l L.

¥ B&0 9129 :

Mg&{‘i'— P

REV.050802



Flat car w/ truck trailer

Trailer&carParts

NameandNumber

1)

Trailer(B&O)
Trailer(U.P.)
Trailer(PRR)
Trailer(FEC)
Trailer(NYC)
Trailer(NS)(#60368)
Trailer(NS)(#60372)
Door(silver)

(right)( B&O)
Door(yellow,red,grey)
(right)(U.R)
Door(red)(right)(PRR)
Door(red)(right)(FEC)
Door(red,grey)
(right)(NYC)
Door(white)
(right)(NS)(#60368)
Door(white)
(right)(NS)(#60372)
Door (silver)(left)(B&O)
Door(yellow,red,gray)
(left)(U.R)
Door(red)(left)(PRR)
Door(red)(left)(FEC)
Door(red,gray)(left)(NYC)
Door(white)
(left)(NS)(#60368)
Door(white)
(left)(NS)(#60372)
Underframe(silver,black)
(B&O)

Underframe(red,black)(PRR)
Underframe(red,black)(FEC)
Underframe(NYC)
Underframe(NS)
Axle(nickel)(trailerwheelaxle)
Rim(silver)

Rim(red)(U.R)
Tire(black)(rubber)

Screw

(M3x8.0mm)(w/plasticcuttingthreads)(roundhead)

Support(black)
Support(silver)

Screw
(M2.5x6.0mm)(flathead)
Brakewheel(black)
Kingpinsupport(black)
(plastic)
Chock(black)(plastic)
Chassis(B&O)(#9129)
Chassis(U.P.)(#53027)
Chassis(PRR)(#474399)
Chassis(FEC)(#64273)
Chassis(NYC)(#499706)
Chassis(NS)(#60368)
Chassis(NS)(#60372)
Screw
(M3x5.0mm)(w/8.0mmwash
Washer(6.2x10.0x0.7mm)
Truckmountingplate(black)

$Price

Part # PerUnit
HG-0200001 8.00
HG-0200004 8.00
HG-0200003 8.00
HG-0200004 8.00
HG-0200009 8.00
HG-0200006 8.00
HG-0200007 8.00
HG-0200008 4.00
4.00
HG—020001§ 4.00
HG-0200011 4.00
HG-0200012 4.00
4.00
G-0200014 4.00
HG-OZOOOlg 4.00
HG-020001 4.00
HG-0200017 4.00
HG-0200018 4.00
HG-0200019 4.00
HG-OZOOOZE 4.00
4.00
8.00
8.00
HG-0200024 8.00
HG-0200025 8.00
HG-0200024 8.00
HG-0200027 8.00
DC-0200001 1.00
HG—020002§ 1.00
HG-020002 1.00
DE-020000 1.00
A-000020 0.15
HG-020003d 2.00
HG-0200031 2.00
A-0000179 0.15
HB-4200007 1.00
HE-020000 2.00
HE-0200002 2.00
HE-0200003 *8.00
HE-0200004 *8.00
HE-0200005 *8.00
HE-0200006 *8.00
HE-0200007 *8.00
HE-0200008 *8.00
HE-0200009 *8.00
A-000026§ 0.15

erhead)

D-OOOOOG% 0.15
HE-420002 4.00

(metal)(fitsstandardflatcarsw/2axletruck)

$Price

NameandNumber Part # PerUnit

18.) Screw 0.15
(M2.5x5.0mm)(flathead)

19.) Spring(truckside) 0.25
(2.5x5.0x0.2mm)

20.) Insulatorwasher 0.15
(5.0x10.0x0.3mm)

21.) Spring 0.50
(6.5x8.0mm)(w/0.4mmthickwire

22.) Armature(black) 1.00
(34.0mmlong)(newstylepin)

23.) Screw 0.15
(M3x5.0mm)(washerhead)

24.) Truck(black) 5.00

(2axle)(Railkingfreighttruck)(w/3springsperside)
( blacktrucksideframes)

*RequiresExchange
Allpartsarepricedaseach


www.mthtrains.com/part/HG-0200001
www.mthtrains.com/part/HG-0200002
www.mthtrains.com/part/HG-0200003
www.mthtrains.com/part/HG-0200004
www.mthtrains.com/part/HG-0200005
www.mthtrains.com/part/HG-0200006
www.mthtrains.com/part/HG-0200007
www.mthtrains.com/part/HG-0200008
www.mthtrains.com/part/HG-0200009
www.mthtrains.com/part/HG-0200010
www.mthtrains.com/part/HG-0200011
www.mthtrains.com/part/HG-0200012
www.mthtrains.com/part/HG-0200013
www.mthtrains.com/part/HG-0200014
www.mthtrains.com/part/HG-0200015
www.mthtrains.com/part/HG-0200016
www.mthtrains.com/part/HG-0200017
www.mthtrains.com/part/HG-0200018
www.mthtrains.com/part/HG-0200019
www.mthtrains.com/part/HG-0200020
www.mthtrains.com/part/HG-0200021
www.mthtrains.com/part/HG-0200022
www.mthtrains.com/part/HG-0200023
www.mthtrains.com/part/HG-0200024
www.mthtrains.com/part/HG-0200025
www.mthtrains.com/part/HG-0200026
www.mthtrains.com/part/HG-0200027
www.mthtrains.com/part/HG-0200028
www.mthtrains.com/part/HG-0200029
www.mthtrains.com/part/HG-0200030
www.mthtrains.com/part/HG-0200031
www.mthtrains.com/part/DE-0200001
www.mthtrains.com/part/IA-0000204
www.mthtrains.com/part/IA-0000178
www.mthtrains.com/part/HB-4200007
www.mthtrains.com/part/HE-0200001
www.mthtrains.com/part/HE-0200002
www.mthtrains.com/part/HE-0200003
www.mthtrains.com/part/HE-0200004
www.mthtrains.com/part/HE-0200005
www.mthtrains.com/part/HE-0200006
www.mthtrains.com/part/HE-0200007
www.mthtrains.com/part/HE-0200008
www.mthtrains.com/part/HE-0200009
www.mthtrains.com/part/IA-0000268
www.mthtrains.com/part/ID-0000061
www.mthtrains.com/part/HE-4200026
www.mthtrains.com/part/IA-0000180
www.mthtrains.com/part/IA-0000216
www.mthtrains.com/part/IE-0000033
www.mthtrains.com/part/IE-0000034
www.mthtrains.com/part/ID-0000065
www.mthtrains.com/part/DD-0000013
www.mthtrains.com/part/DA-0200001

Flat car w/ truck trailer

Trailer & car Parts




